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BIFESORE |OBEI-sL5 0 TRUNDEE |5 s TRANOEE || sucpie DRE |DRBBIZES N TRURNDRS |3 s ThAAORE
100kN/m’%&#8 % B X 15 100kN/m*%& 18 % B X 15
NDOREE| TRE | NOAEE| THE | IOKEE| I6E | IOk=E| IR% NADKEE| 1HZ | IOK=E| IRE | IOAEE| TRZ | hDA=E]| I5Z
D3LBK| OB |03LBX| 0B |03uEX| oBx |03L8x| oBx 03LEX| 0B |03u8X| oBx |05bEk| oBx |05bEK| OB
nED nED nED [E)) NEHLED NHLED NLEM NHLED
(Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m)
1 ~ 2 159.5 1.0 100.0 1.0 = = 15.2 3.0
2 ~ 3 160.4 1.0 100.0 1.0 17.4 3.5 15.2 3.0
3 ~ 4 160.9 1.0 100.0 1.0 17.4 3.5 15.2 3.0
4 ~ 5 160.9 1.0 100.0 1.0 17.0 34 15.2 3.0
5 ~ 6 160.9 1.0 100.0 1.0 17.7 3.5 15.2 3.0
6 ~ 7 160.0 1.0 100.0 1.0 17.7 3.5 15.2 3.0
7 ~ 8 159.6 1.0 100.0 1.0 18.2 3.6 15.2 3.0
8 ~ 9 156.9 2.0 100.0 1.0 18.2 3.6 15.2 3.0
9 ~ 10 157.9 3.0 100.0 1.0 16.0 3.2 15.2 3.0
10 ~ 11 157.9 4.0 100.0 1.0 16.0 3.2 15.2 3.0
11 ~ 12 152.7 5.0 100.0 1.0 16.0 3.2 15.2 3.0
12 ~ 13 149.4 6.0 100.0 1.0 = = 15.2 3.0
13 ~ 14 149.6 7.0 100.0 1.0 = = 15.2 3.0
14 ~ 15 158.6 8.0 100.0 1.0 18.5 3.7 15.2 3.0
15 ~ 16 158.6 9.0 100.0 1.0 18.5 3.7 15.2 3.0
16 ~ 17 155.8 10.0 100.0 1.0 17.7 3.5 15.2 3.0
17 ~ 18 157.3 11.0 100.0 1.0 17.7 3.5 15.2 3.0
18 ~ 19 157.3 12.0 100.0 1.0 17.5 3.5 15.2 3.0
19 ~ 20 156.9 13.0 100.0 1.0 17.5 3.5 15.2 3.0
20 ~ 21 157.2 14.0 100.0 1.0 17.5 3.5 15.2 3.0
21 ~ 22 158.2 15.0 100.0 1.0 17.5 3.5 15.2 3.0
22 ~ 23 158.2 16.0 100.0 1.0 = = 15.2 3.0
23 ~ 24 - - 100.0 1.0 = = 14.8 3.0
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